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1.a) Draw the circuit
analysis.

Answer anY five questions

All questions carry equal marks
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Max. Marks:75

[8+7]

diagram for series connection of resistors and give the detailed

b) Find the current'I' in the circuit shown in figure' [8+7]
I
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2.a) What is a Generator? Explain the principle of operation of DC generator in detail.

......b). A 22O,V.DC series moJor.is running at.a..speed of 1500 5p.,n Td draws 50A.

i:;,:1,:1i calculaie.fu.i"rrat rp..d'thi:"rotor u,ill itln':tinen cleveldpi.rigi.3l4'h of thd''tixriire.

Total resistance of armature and field is 0.2C2. Assume that the magnetic circuit is

3.a)' 
i:;':ll

:"'. ""'.
' 6.a)

b)

unsaturated.

What are the types of losses in transformer? Explain in detail.

A single'phase 200V/50y., 4q Hz transformer'has a maxirnum'core flux density. of
ri 

"n'* 
tn*ttive crossi'llli-nar *"u iji. dozs m'. oiiibrtirlne the nriruLiior

secondary turns. [8+7]

Define regulation in alternators. Horv it can be calculated.

What are the conditions to be satisfied for the production of torque in induction
motorsl";plpfain :.,,'i..,; i.,,,;..,i i:,,,;.:,; i:l-8fry

5.a) What are the instruments that available to measure eiectric current? Explain their
classitication.

b) What are the merits and demerits of permanent magnet moving coil instruments?
Explain.

i'':'i.", i',:'i."i ,'':'i"'i
Explain varibus applicatiohS'bf PN Junctioir cliodes.

The supply voltage of a single phase half wave rectifier with resistive load of 50O
is 230V, 50 Hz. Assuming a voltage drop of lV across the diode when it is turned

[8+7]

i',:'i"',

ON, detennine the RMS load voltage and RMS load current [5+10]
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